Catalog FAQ2R-14

1ISO CYLINDER (150 6431, vDMA24562)




) CLASS PERFORM
O >’ |

FABCO-AIR FAQ2R Series
“NEUyaTic, PRODUC® ISO CYLINDER (ISO 6431,VDMA24562)

Features

—t

. Magnetic piston is standard in all sizes.

N

. Adjustable air cushions at both ends
are standard in all sizes.

3. ISO 6431 dimensional interchange.

4. Machined male rod thread with jam nut
Trunnion mount (See page 7) is standard in all sizes.

o

. Hard anodized aluminum cylinder tube
[.D. & O.D.; Painted end caps.

. Cylinders can be operated with or
without additional lubrication.

»

~

. Position sensors ordered separately
( see page 8).

How to order Specifications 150 psi max.

S

Conversions .
FAQZR psi = kgffem?2 x 14.2 inch = mm x 0.0394
psi= MPa x 145 Ib force = N x 0.22
Series Bore (mm) Mounting Series | FAQ2R ‘ FAQ2RW
FAQZR 230 Standard Tapped holes Action Single rod Double rod
Standard at both ends — Bore (mm) 232,840,050,063,280,8100,8125
240 Strokes (mm) leave blank
type available forall | | o v Operating media Compressed air
250 bore sizes Foot % - : . :
\/ Min. Operating pressure 0.07 MPa (0.7 kgf/cm?) 10 psi
263 25 450 mount _
50 500 TC Max. Operating pressure 1MPa (10.5 kgf/cm?) 150 psi
FAQ2RW 280 75 | 550 | |Trunnion = | : -
Double 2100 100 600 .& Piston speed range| 50~500mmy/sec. (1.97~19.7 in./sec.)
rod 125 650 —10°C (14°F) ~ +70°C (158°F) filtered dry air
125 150 700 Ff\o é t'/:rgar Ml L LE R required at temperatures below 0°C (32°F)
;Z)g 288 flange Lubrication Not required or use ISO VG32
250 850
300 900 Eye
350 950 mount
400 1000 Effective Piston A
ective Fiston Areas
Non-standard %E’UF;]'E/ ot o
strokes are avail- includes pin Push Pull
able on request g?e% Eﬂy%mggm Bore (mm) I in2 i n2
o mth rF]Jt'VOY 32 8.0 1.25 6.9 1.1
FEETER SEnRelE Leadwire (see00.0 40 126 | 1.95 106 | 1.64
9G49 Series Sensors ﬁggeEsrsIgries 50 19.6 3.04 16.4 2.56
Order sensors, adapters N ord el 63 31.2 4.83 28.0 4.35
rder separate
ggg C‘;'desgts separately. 49 P Y 80 50.3 7.79 45.4 7.03
page o. — LED Please see pg. 5
Indicator for part numbers 100 78.5 12.17 73.6 11.4
J, - glamp and prices. 125 122.7 19.0 1131 | 175
crew
~ Conversions
6,
3 N’E Force Ib = psi X in®
N = Ibf X 4.45
Please visit http://portal.fabco-air.com/configure.php for current pricing. Pag e?2 10-8-14

Specifications and prices subject to change without notice or incurring obligation



GLASS PERFQ,
o ——

Standard stroké$

Construction

A,
NEUMATIC PRODUCT®

Co

232

FAQ2R Series Dimensions (mm)
ISO CYLINDER (ISO 6431,VDMA24562)

@Hﬂﬂﬂﬁﬁﬁﬂﬂﬂﬁﬁﬁﬁl

240

250

263

280

2100

2125

@® Non-standard strokes are available upon request.

s

Sensor mounting slot

Position sensors (see back page)

Note:

Length of air cushion spear may affect
some short stroke applications

Air cushion spear
Standard length (mm)

@32 ... ... 23
240, 250, 263 28
280 ... ....... .. 8y
2100, 2125 . ... .. 37

Note: Piston magnet is

standard on all sizes

* Mounting — The sensor, combined with an adapter, clamps rigidly to the extrusion slot and can be
clamped anywhere along the length of the cylinder for very precise piston position sensing.

e Reliability — The annular piston magnet is permanently bonded into a groove in the piston.
It is a polarized permanent magnet of rubber bonded barium ferrite that is very stable and
is not affected by shock. Under normal usage it will remain magnetized indefinitely.

e \Warning - External magnetic fields and/or ferrous objects may affect the strength of the piston
magnet therefore affecting sensor actuation and piston position indication.

e Warning — Do not exceed sensor ratings. Permanent damage to sensor may occur. Power supply polarity
MUST be observed for proper operation of sensors. See wiring diagrams included with each sensor.

Each kit includes materials

Par’t' list ;) NO | Description Material Gty : Seal kits I for both single rod and double
. / L7 @ (Front end cover Aluminum alloy (painted) 1 " / " rod cylinders
® | Rear end cover Aluminum alloy (painted) 1 Complete
(3) Barrel Hard anodized aluminum alloy 1 Bore | Seal kits | Price
0 Piston rod Hard chrome plated carbon steel| 1 232 FAQR32-SK _
(5) Piston Aluminum alloy 1 T [ -
@ | Piston rod seal Nitrile - Buna N 1
@ | Piston seal Nitrile - Buna N 2 2y | ARSI -
@ |Rod bushing Oil filled, sintered bronze 1 263 | FAQRE3-SK -
(9] Magnet Rubber bonded barium ferrite 1 280 | FAQR80-SK -
@ | cushion screw Plated carbon steel 2 2100 |FAQR100-SK -
® Wear ring Acetal 1 2125 | FAQR125-SK )
@ End cover seal Nitrile - Buna N 2
® | cushion ring Nitrile - Buna N 2
10-20-14 Please visit http://portal.fabco-air.com/configure.php for current pricing.
Page 3 Specifications and prices subject to change without notice or incurring obligation



D CLASS PERFQRM
?\ m

L FABCO-AIR)

“NEUMATIC PRODUCT®

FAQ2R Series Dimensions (mm)

1ISO CYLINDER (ISO 6431,VDMA24562)

ZX + Stroke
@ Single Rod End (FAQ2R [1[1x [1[]) G G
2x, cushion sw L2 | PL 2-EE PL
Port location \’—‘« adjustment screws ‘\ i r__,

|
i Ol@) ] i R
i Z . T

R = i o

&%) P ey T
A / b
| N4 =

‘ oR ‘ KK / L12 L9
OE 4-RT at VD| BG
both ends AM WH L8 + Stroke VA
ZZ + Stroke

mmmﬂmn—-n--m

232 G1/8" M10X1.25 32.5 M 120146
240 | 24 |35 |15 |16 |53 | G1/4"| 30 | M12X1.25| 20 |105 6 | 8 |15 /38 |M6|13| 5 | 9 | 4 |30 |135/164
250 | 32 |40 |18 |20 |65 | G1/4"| 30| M16X1.5 |25 |106/ 6 | 8 | 15 465/ M8 |17 | 5 | 11| 4 |37 |143/180
o663 | 32 |45 |18 |20 |75 |G3/8"| 32 | M16X1.5 |25|121| 6 | 8 |16|56.5M8|17| 5 | 13| 7 | 37 |158|195
280 | 40 |45 |22 |25 |95 | G3/8"| 38| M20X1.5 |32 128/ 6 | 10|19 |72 [M10|22| 4 | 15| 7 | 46 174|218
2100 | 40 |56 |22 |25 115 G1/2"| 40 | M20X1.5 34.5138| 6 | 10197589 M10/22 | 6 | 16| 7 |51 189235
2125 | 54 | B0 |22 |35 140 G1/2"| 40 | M27X2.0 | 40|160| 6 | 15|16 /110M12/32| 8 | 8 | O | B5 |225/287

@ Double Rod End (FAQ2rRW O x 0 0)

m—-m-

KK i HH KK M10X1.25 146 | 190
nl;m —ﬁ% a40 24 | M12x1.25| 105 30 | 165 | 213
= ' 50 | 32 | M1BX1.5 | 106 37 | 180 | 244

863 | 32 | M1BX1.5 | 121 37 | 195 | 259
WH | L8 + Stroke | WH + Stroke 280 40 M20X1.5 | 128 46 220 | 300
AM| | ZA + 2 x Stroke | av| 2100 | 40 | M20Xx1.5 | 138 | 51 | 240 | 320
| ‘ 7Y + 2 x Stroke ‘ | @125 | 54 | M27x2.0 | 160 65 | 290 | 398
. CG v
. Eye Mount Base combined 4CD
with Pivot Mount and Pin (CBB) mREE I AEEN) L @7 7@
L AT ?( |
A= | & & fa
[ N 4 ky }
il [ ~
| uﬂw &CC@‘@
RERAR) T mp i
-CA \ |
4-gP CE

mmmmm--

g7thru hole,#11c'bore,dp5

640 22 41 88 12 38 57 24 ’IO 28 g7thru hole,s11c'bore,dp5

250 30 50 45 12 50 70 33 12 32 #8thru hole,g14c'bore,dp6

263 35 52 50 16 55 72 37 12 40 #9thru hole,#14c'bore,dp6
280 40 66 63 186 64 90 47 14 50 #11thru hole,s18c'bore,dp8
2100 50 76 71 20 74 100 55 16 60 #11thru hole,#18c'bore,dp8
2125 60 94 90 25 90 124 70 20 70 211thru hole,s18c'bore,dp8
Please visit http://portal.fabco-air.com/configure.php for current pricing. Pag ed 7-17-14

Specifications and prices subject to change without notice or incurring obligation



FAQ2R Series Dimensions (mm)

@ Foot mounting (LB) A+ Stroke @ Eye Mount (CA) CD T _
| | 7]
T i L _; HE
L hy g
1 FH?HW L) [
e B = ==
SA + Stroke AQ| XD + Stroke “FLT T MR EW
E1 o E1
ore | oh8 | An | AD AT\ ET | SA | T | xa | Bore | G0 | DEV| EW | FL| MR DTG
@32 | 7 | 32 | B | 5| 47 | 142 | 32 | 144 832 | 10 | 47 | 26 |22 | 105 | 325 | 142
240 | 9 | 36 | 10| 5| 53 | 161 | 36 | 163 240 | 12 | 53 | 28 |25 | 13 | 38 | 160
50 | 9 | 45 | 10| 5| 65 | 170 | 45 | 175 850 | 12 | B85 | 32 |27 | 13 | 465 | 170
663 | 9 | 50 | 10| 5| 75 | 185 | 50 | 190 63 | 16 | 75 | 40 [32| 17 | 565 | 190
280 | 12 | 63 | 13| 6 | 95 | 210 | B3 | 215 280 | 16 | 95 | 50 |36 | 17 | 72 | 210
2100 | 14 | 71 | 15| 6 | 115|220 | 75 | 230 2100 | 20 | 115 | 60 |41 | 21 89 | 230
g125 | 16 | 90 | 25| 8 [ 140 250 | g0 | 270 e125 | 25 | 140 | 70 |50 | 25 | 110 | 275
@ Front flange (FA) @ Pivot Mount (CB) BTG
N:HW—Q_T | +T [ o
W ‘
ISy uB
ZX + Stroke XD + Stroke OE2

CBore | E2 | FB |
232

(MF R TF | UF W | 2X
10 | 32 | 64 | 79 | 16

| Bore | CB |oCD | (JE2 | FL |
10 47 | 22

(MR 0TG1] UB_| XD |

50 7 120 232 | 26 10.5| 32.5 | 45 | 142
240 55 9 10 | 36| 72 | 90 | 20 | 135 40 | 28 | 12 53 | 25| 13 38 52 160
250 65 9 12 | 45| 90 |110| 25 | 143 e50 |32 |12 | 65 |27 | 13 | 465 | B0 | 170
263 75 9 12 | 50 | 100 | 120 | 25 | 158 @63 |40 | 16 | 75 |32 | 16 | 56.5 | 70 | 190
280 95 | 12 | 16 | B3 | 126 | 153 | 30 | 174 280 |50 | 16 | 95 |36 | 17 72 90 | 210
2100 | 120 | 14 | 16 | 75 | 150 | 178 | 35 | 189 2100 | 60 | 20 | 115 | 41 | 21 89 110 | 230
2125 | 140 | 16 | 20 | S0 | 180 | 220 | 45 | 225 2125 | 70 | 25 | 140 |50 | 25 | 110 | 130 | 275
‘ Rear Flange (FB) ‘ Trunnion (TC) TT
| | s BT @,,@ ,,,,,, ,EE
et . ‘ i @.$ |
el | = - oo =6 |- Q|
=il \ | DS bru | [ 59 e o
3 H <D i &
4-gFB ‘ 1
MF — TF TL TL TA+!/2Stroke
ZF + Stroke UF UM —IC A + Stroke

|_Bore | E2 | FB | MF LR | TF | UF_
232 50 7 10 32 64 79

C |TT | TA |¢TD|TL|TM |TU |[UM

130 @32 = —
240 55 9 10 36 | 72 90 145 @40 (135 |24 |30 |825| 16 (16|63 |70 | 95
250 65 g 12 45 90 110 155 50 — — — = — — | = — —
263 75 9 12 50 100 | 120 170 263 - - - - - - — - -
280 95 12 16 63 126 | 153 190 @80 (174 |40 | 44 | 110 | 20 |20 [110 |120 150
2100 | 120 | 14 16 75 | 150 | 178 | 205 2100 (189 |40 |48 | 120 | 25 |25 (132|143 /182
e125 | 140 | 16 | 20 90 | 180 | 220 | 245 @125 (225 |54 | 52 | 145 | 25 |25 (160 |175 210
Notes
A) 8x clamp screws lock TC mount to extruded housing rails. Dim. 'TA'is adjustable by the customer if necessary
Loosen clamp screws and adjust to desired position. Apply Loctite 242 (blue) to clamp screw threads and tighten.
B) TC mount may interfere with application of piston position sensors when using short strokes, sensing mid-stroke
positions or if the TC mount is placed near either end-of-stroke.
C) Mount is steel and may affect magnetic field required for effective position sensing. All trunnion pins are steel
10-20 -14 2] 5 Please visit http://portal.fabco-air.com/configure.php for current pricing.
age Specifications and prices subject to change without notice or incurring obligation




@ Rod clevis and pin (YI)

ISO 8140
DIN 71752

FAE25-057A |20
FAE40-057A |24
FAQR50-057A |32
FAQR80-057A |40
FAQR125-057A | 56

10 | 20 |40 |M10x1.25
12 | 24 |48 |M12x1.25
16 |32 |64 | M16x1.5
20 |40 |80 | M20x1.5
30 | 54 |110 | M27x2.0

OTES

20 52 18
24 62 20
32 83 26
40 105 34
55 148 48

@ Spherical rod end (P)

DIN 648
DIN 24335

PartNo. |A [C | E |G| |

FAQR25-061 |21
FAQR40-061 | 24
FAQR50-061 |33
FAQR80-061 |40
FAQR125-061 | 53

11 16.116.5| 56
12 122.216.5| 65
15 1285|8 | 83
18 34.9|10| 100

M10x1.25(12.9 (17
M12x1.25(15.4 |19
M16x1.5 [19.4 |22
M20x1.5 [24.4 |32

26 |47.6 |15(143.5| M27x2.0 |32.3 |41

19 |43
22 |50
27 |64
37 |77
50 |110

10 | 15

—| gBD |~ X Flats

ER |LE
1412613 |22

12 (175116 [ 30| 15 |26
16 | 22 |21 | 38|19 (31
20 [27.5|25 |46 | 23 |37
30 | 40 |35 | 67 |33.5/54

@ Rod clevis and pin (Y)

FAQR32-057 |20|15|52 [M10x1.25| 40 | 10
FAQR40-057 |24|15| 60 [M12x1.25| 48 | 12
FAQR50-057 |32|18|83 | M16x1.5| 64 |16
FAQR80-057 |40|20|105 | M20x1.5 | 80 | 20
FAQR125-057 |32|15|98 | M27x2.0 | 72 | 24

19(10
24112
32|16
38|20
50|24

oCK|oCL/CM|0BD| ER| KG | LE

17112| 26 | 20
22112| 32 |24
28| 1940.5/ 32
37| 25| 46 |40
42| 26| 58 |40

Please visit http://portal.fabco-air.com/configure.php for current pricing.
Specifications and prices subject to change without notice or incurring obligation

Page 6

9-20-18







WD CLASS PERFORM
K>

FABCO-IIIR
|

NEUMATIC PRODUCT®

Position Sensors

9G49 Sensors Leadwire —

A "no charge" adapter
# TEZ73047 is included /\
with the sensors to fit

FAQ2R Series 7’
air cylinders — LED

~&_ Indicator

— Clamp
{ Screw

%3 45 Note'
/< \ Quick Disconnect Sensor has a

6" pigtail with male connector.

Please order sensors and female cordsets separately.

Reed (LED)
5-120 VDC/VAC, 0.03 Amp Max., 0.005 Amp Min.,
4 Watt Max., 2.0 Voltage Drop

Prewired 9 ft. Leadwire

Part No

9G49-000-002

Quick Disconnect*

Part No

9G49-000-302

Electronic (LED)
Sourcing, PNP, 5-28 VDC, 0.20 Amp Max., 0.5 Voltage Drop
Prewired 9 ft. Leadwire
Part No.
9G49-000-031
Quick Disconnect*
Part No.
9G49-000-331

Electronic (LED)
Sinking, NPN, 5-28VDC, 0.20 Amp Max., 0.5 Voltage Drop
Prewired 9 ft. Leadwire
Part No.
9G49-000-032
Quick Disconnect*
Part No
9G49-000-332

Part No.
TEZ73047 Fits All Bore Sizes. . .. ... .. No charge

Sensors for FAQ2R Series Cylinders

Sensor Adapter

Female Cord Sets

Cord length

1 Meter
Part No
CFC-1

2 Meters
Part No
CFC-2M
5 Meters
Part No
CFC-5M

Installing sensors
in the mounting slot

f- Insert an adapter
into a groove.

$

% Insert a sensor
into a groove.

&

% Slide the sensor
into the adapter.
o

@\%

), After the sensor is
positioned, tighten
the clamp screw.

Fabco-Air, Inc. @ 3716 N.E. 49th Avenue B Gainesville, FL 32609-1699
B Telephone (352) 373-3578 M Fax (352) 375-8024 M E-Mail service @fabco-air.com

B Web Site http://www.fabco-air.com

9-20-18




